
Kupplung D80
Anwendungs- und 
Montagehinweise

Coupling D80
Notes on Use and 
Installation

07
/2

00
9 

M
ad

e 
in 

Ge
rm

an
y  

    
  w

ww
.it

em
.in

fo

9

5

11

1b

2 12

4

10               

1a

6

7

8

1b

3 4

1a . Verbindungswelle VK32 R25 0.0.337.93 
 1b. Verbindungswelle VK32 R50 0.0.337.92 
 2. Kupplungshälfte D80 VK32 0.0.337.65 
 3. Kupplungszahnkranz D80 0.0.463.18
 4. Kupplungshälfte D80 D12 0.0.337.86
 5. Kupplungsgehäuse 8 D80 0.0.463.21
 6.  Zahnriemenumlenkung 8 80 R25 VK32 0.0.366.11
  7. Zahnriemenumlenkung 8 80 R50 II VK32 0.0.426.19
 8. Zahnriemenumlenkung 12 80 R75 VK32 0.0.009.08
 9. Zylinderschraube DIN 912 M8x50
 10. Zylinderschraube DIN 912 M8x20 8.0.004.41
 11. Kupplungsplatte D80 Universal 120x120 0.0.463.07
12.  Kupplungsplatte D80 Universal 160x160 0.0.463.08

 1a. Connecting Shaft VK32 R25 0.0.337.93
 1b. Connecting Shaft VK32 R50 0.0.337.92
 2. Coupling Half D80 VK32 0.0.337.65
 3. Coupling Insert D80 0.0.463.18
 4. Coupling Half D80 D12 0.0.337.86
 5. Coupling Housing 8 D80 0.0.463.21
 6. Timing-Belt Reverse Unit 8 80 R25 VK32 0.0.366.11
 7. Timing-Belt Reverse Unit 8 80 R50 II VK32 0.0.426.19
 8. Timing-Belt Reverse Unit 12 80 R75 VK32 0.0.009.08
 9. Hexagon Socket Head Cap Screw DIN 912 M8x50 
 10. Hexagon Socket Head Cap Screw DIN 912 M8x20 8.0.004.41
 11. Coupling Adapter Plate D80 Universal 120x120 0.0.463.07
 12. Coupling Adapter Plate D80 Universal 160x160 0.0.463.08


